3-Digit Minus 1-Digit Subtraction (H)

Name:

528 — 8 =
989 — 3 =
157 — 4 =
919 — 6 =
990 — 8 =
726 — 8 =
963 — 7 =
949 — 9 =
826 — 2 =
554 —1 =
657 — 8 =
680 — 1 =
748 — 8 =
183 —7 =
799 — 5 =
544 — 2 =
942 — 3 =
739 —1 =
131 — 8 =
584 —1=
868 — 1 =
823 —3 =
795 — 8 =
823 —1=
519 -3 =

Date:

Calculate each difference.

998 — 3 =
841 — 6 =
414 — 6 =
352 -2 =
842 —3 =
269 — 6 =
702 -2 =
164 — 2 =
849 — 8 =
244 — 1 =
753 —6 =
914 -2 =
463 — 4 =
264 —2 =
938 —3 =
325—-8 =
106 — 8 =
274 -3 =
286 — 3 =
424 -1 =
595—-6=
332—-5=
219 -2 =
689 — 4 =
489 — 3 =

Score:
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3-Digit Minus 1-Digit Subtraction (H) Answers

Name: Date: Score:

Calculate each difference.

528 —8 = | 520 998 —3 = 995
989 —3 = 986 841 —6 = | 835
157 -4 =153 414 -6 = 408
919 -6 =913 352—-2= 350
990 —8 = 982 842 —3 = | 839
726 —8 = | 718 269 —6 = | 263
963 — 7= 956 702 -2 =700
949 —9 = 940 164 —2 = 162
826 —2 = | 824 849 —8 = 841
554—-1= | 553 244 —1 = | 243
657 — 8 = | 649 753 —6= 747
680—1= 679 914 -2 = 0912
748 — 8 = | 740 463 —4 = 459
183 —-7= 176 264 —2 = 262
799 — 5= 794 938 —3 =935
544 —2 = 542 325—-8 =317
942 —3 = 939 106 —8 =98
739 —1=| 738 274 -3 =271
131 -8 =123 286 —3 = | 283
584 —1= | 583 424 -1 = 423
868 —1 = 867 595—-6 = 589
823 —3 = | 820 332—-5= 327
795 -8 = 787 219 -2 =217
823 —1= 822 689 —4 = | 685
519 -3 = 516 489 —3 = 486
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